OSa=TAUNREEAH

O—X FE| 48 | 58 | 6A | 7A | 88 | 98 |10A |11A |12A | 1A | 2B | 38 | &£E:t
H30 | 3,853| 3,919| 3,876/ 3,811| 3,931| 3,529 3,789| 3,536| 3,555| 3,169| 3,047| 3,369| 43,384
RIT | 3.262| 3519| 3,457| 3,639 3,736 3,485 3,300| 3,110| 3,472| 3,243| 2,851| 2,390| 39,464
A - ARk R2 | 1,584| 1,740| 2,678| 2,925 2,703 2,708 3,002| 2,777| 2,716| 2,288| 2,252| 2,708| 30,081
AEI—R R3 | 2,317| 2,128 2,550| 2,933| 2,756| 2,554| 2,834 2,785| 2,863| 2,418| 2,232| 2,661| 31,031
R4 | 2,868| 2,849 3,029| 3,067| 2,857| 2,841| 2,897 2,879| 2,937 2,396| 2,406/ 2,892| 33,918
R5 | 2,906| 3,064| 2,945| 3,053| 3,084 2,955| 3,069 3,068| 3,314/ 2,818 30,276
a—2x £r| 48 | 58 |68 | 7A | 88 | 98 |10A | 118|128 | 1A | 2A | 38 | &E:t
H30 | 7,686 7,856| 8,160| 7,894| 8,534| 7,889| 7,950| 7,712| 7,438| 6,913| 6,951| 7,959| 92,942
RJT | 7,999| 7,786| 7,880 9,367| 9,092| 8,469| 8,292| 7,829| 7,959| 7,577 6,772| 6,198| 95,220
—@whEa—x | 2| 3982| 3018| 6:327| 7.394| 6406| 6,634| 7.098| 6,012| 5845| 5360 5260| 6477| 70,713
R3 | 5957| 5,180 6,405| 7,017| 6,644| 6,483| 7,049| 7,095| 7,227| 6,065| 5596 7,130| 77,848
R4 | 7,107| 7,023| 7,493| 7,583| 7,441| 7,377| 7,607 7,169 7,402| 6,926/ 6,858| 7,983| 87,969
R5 | 7,962| 8,074 8,472| 8,262 8,406| 8,198| 8,168 7,815| 7,701| 7,080 80,138
a—X FE|4A | 58 [ 6A | 7A | 8A | 9A |10A | 11A |12A | 1A | 2A | 3A | FE:&
H30 | 2,943 3,021| 3,023 3,434| 3,368| 3,087 3,290| 3,042| 3,260| 2,753| 2,891| 3,155| 37,267
RJT | 2,992| 3,142| 3,133| 3,613| 3,628 3,412| 3,397| 3,096/ 3,316/ 3,082| 2,910/ 2,453| 38,174
s Ea—= | R2| 1:611] 1,614] 2519] 2947| 2573 2536| 2.730| 2.419| 2417| 2307| 2176 2764 28,613
R3 | 2,357| 2,228 2,495| 2,883 2,826| 2,601| 2,863| 2,894| 2,828 2,480| 2,168| 2,911 31,534
R4 | 2,980| 3,000 3,224| 3,382| 3,306| 3,205| 3,231| 3,056( 3,192| 2,770| 2,788 3,195 37,329
R5 | 3,051| 3,210| 3,394| 3,310| 3,357| 3,316| 3,183 3,030| 2,962| 2,724 31,537
a—2X F£E| FE&
H30 173,593
RIT 172,858
R2 129,407
23R R3 140,413
R4 159,216
R5 141,951




